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X,=88,41Y,~8859.2,~67,15 B,

%w=0,3621y,,=0,3628

A1= (a1~ a1 ) Yig (Y/Ym)lg
By = (b1~ by ) Yig (/Y19

3y =ay[(x-0,17Dh]
by =byo [2M]

ay =1, byp=-0,4
Mr;=1,000b7,=0,171

n = P45 -40

flolours (0) Yy,~88,6
Ehénatic value, P45

A*110 B*110
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Xu=8841Y,~88592,~67,15 B,
%=0,3621y,,~0,3628 -
Ap= (@ = ay) Yig (VY1913
Bz = (b~ by, Y15 (Y1913
ay = a0 [(x=0,171)/y] 4
b,=ba0 [(Mp1x+bp1)/Y]

80=1, byo=-0,4 8

40

Mp;=-0,157,bp;=0,385 L €56-90-3

n = P45 -40

Ostwaldcolours (0) Y\)=88,6
max (m) chromatic value, P45

chroma (A*; 10 B*210
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Xu=8841Y,~88592,~67,15 B,
%,,=0,3621y,,=0,3628 A0
A= (@ = as) Yig (VY1913
B3 = (b3~ bs ) Y15 (/Y1913
ag =ay [(x-0,17D/y] 4L
b3=ba [(Mp1x+bp1)/y]

ay=1, byp=-0,4 OO_T A
mp;=—1,344,bp,=0,781 . o56| 0 D
n = P45 _40 32 40
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O Idgolours (0) Y\\=88,6
max (m)hdmatic value, P45
chroma (A*310, B*310)
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X,=88,41Y,~8859.2,~67,15 B,

%=0,3621y,,~0,3628 +40
Ay (8 =aq) Yia (Y19 113
By = (b4 — by ) Y18 (Y/Y19
a4 =ay[(x-0,17Dh] 1
b=ba0 [(Mp1x+bp1)/Y]
80=1, byo=-0,4 871
Mp;=-0,157,bp,=0,385 . ,ossloo 39 A
n = P45 -40 8 32 40
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Ostwalddolours (0) Y\)=88,6
max (m)hdnatic value, P45
chroma (A*410, B*210)
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Xu=8841Y,~88,592,~67,15 B,
%,,=0,3621y,,=0,3628 0
As = (@~ as,y) Yia (VY1913
Bs = (bs ~ bs ) Y15 (/Y19 /3
a5 =ay [(x-0,17Dh] 4L
bs=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4 OO_T A
mp;=—1,344,bp,=0,781 . o56| 0 D
n = P45 _40 32 40

1

O Idgolours (0) Y\\=88,6
max (m)hdmatic value, P45
chroma (A*s 10, B*s10)
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Xu=8841Y,~88592,~67,15 B,
%,,=0,3621y,,=0,3628

As= (@~ a5,) Yis (Y/vla)ig

Bg = (06 —bg ) Y18 (Y/Y19)

g = ago [x/Y] g
be=ba [(Mp1x+bp1)/y] .
80=1, byo=-0,4
mp;=—1,344,bp,=0,781 ) 05'5/0

n = P45 -40
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Ostwaldcolours (0) Y\)=88,6
max (m) chromatic value, P45

chroma (A*g10, B*6.10)
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